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***COMPLETED WITH SlopeIntForm.ppt***

Today’s objective: 

 SLOPE INTERCEPT FORM

Given the __________ and the ______________ of a line, the equation is 




_________________.

1.  Write an equation in slope-intercept form if the line has a slope of 2 and a

 y-intercept of 6.


2. Find the slope and y-intercept of each equation. 

A)
y = 3x - 7

B)
y = 2/3x

C)
y = 5

3.  Find the slope and y-intercept of each equation.  


A)
5x - 3y = 6


B)    
4y + 2 = 2x

4.  Write an equation in standard form given the points  (-2, 1) and (4, 2)

5.  
Write the standard form for a line passing through the points  (-3, -1) and 
(6, -4).

